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962 FORMAT(I4,8F10.6,F7.1,E13.5)
3 FORMAT(LHOy2Xy6HTIME= 4E144894Xy5HUFS= 4 FE14.844Xy5HXFS= 4E14.8,4X,
=THCYCLE= ,1443X,THIPMAX= ,14,43X,THICRIT= ,14/2X)
END
SUBROUTINE GRAPH4(A,B,CyDyN)

COMMON /C3CTRL/ COUNTS,JSTAR,JPE,JPB,JQUIT,LAST,CYCLES

COMMON /C4FLOW/ U(300),V(300),X(300),2(300),P(300),E(300),QA,VN,
1 MASS(300),CSP(300)

COMMON /CT7GNRL/ ALP,OPTION,CONA,CQ,LEFTP

REAL LyMASS,LINEAR,LEFTP
DIMENSION A(N), BI(N)y C(N), DIN), POINT(4), GRAPH{122)
DATA POINT/1HA,1HB, 1HC,1HD/
NDATA MSWTCHy,BLANK,PERIOD/O0y1H ,1H./
M=4
IF(MSWTCH.EQ.1) GO TO SO
AMAX=D(1)
AMIN=D(1)
DO 1 I=11N
IF{AMAX.LT.D(I)) AMAX=D(T)
1 IF(AMIN.GT.D(I)) AMIN=D(I)
GO TO 2
ENTRY GRAPH3(A,B,C,yN)
M=73
IF(MSWTCH.EQ.1) GO TO 50
AMAX=C(1)
AMIN=CI(1)
2 DO 3 I=1,N
IF(AMAX.LT.C(I)) AMAX=C(I)
3 IF(AMIN.GT.C({TI)) AMIN=C(I)
GO TO 4
ENTRY GRAPH2(A,B,N)
M=2
IF(MSWTCH.EQ.1) GD TO 50
AMAX=8(1)
AMIN=B(1)
4 DO 5 I=1,4N
IF(AMAX.LT.B(I)) AMAX=B(I)
S TF{AMIN.GTB(I)) AMIN=B(I)
GND TO 6
ENTRY GRAPHLI(A,N)
M=1
[FI(MSWTCH.EQ.1) GO TO 50
AMAX=A(1)
AMIN=A(1)
6 DO 7 I=1,4N
IF(AMAX.LT.A(TI)) AMAX=A(I)
7 IF(AMIN.GT.A(I)) AMIN=A(TI)
50 SC=({AMAX-AMIN)/120.
WRITE(6,100) AMIN,AMAX,SC,{(PERIOD,I=1,121)

100 FORMAT(1Hl,17HRANGE OF GRAPH ISyF15.8,8H THROUGH,F15.8//1X,17HSCAL
1ING FACTOR ISyF15.8//105X,21H111111111111121111111/15%X,111H1111111
2111222222222233333333334444464444455555555556666666666T777777777888
388888889999999999000000000011111111112/6X,120H12345678901234567890
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4123456789012345678901234567890123456789012345678901234567890123456
57890123456789012345678901234567890/5X,121A1)
DO 8 l’loN

DO 17 J=1,121

GRAPH{J)=BLANK

GO TO (95104115120, M
K4=(D{I)-AMIN)/SC+1.
IF(K4.LT+0s0ReK4:GTo122)
K3=(C(I)-AMIN)/SC+1.
IF(K3.LTe0s0RK3.GT,122)
K2=(B{I)-AMIN)/SC+1.
IF(K2:LTe0e0RsK2:.GT4122)
Kl1=(A(I)-AMIN)/SC+1.
IF(K1elLTeOsOReK1.GT.122)

GO TO (13,14,15,16),M
GRAPH(K4)=POINT(4)
GRAPH(K3)=POINT(3)
GRAPH(K2)=POINT(2)
GRAPH(K1)=POINT(1)

IF(GRAPH{121) .NE.BLANK) GRAPH(120)=GRAPH(121)
WRITE(64101) I,(GRAPH(I1),I1=1,120)
FORMAT(2Xy[351Hey 120A1)

CONTINUE

MSWTCH=0

RETURN

ENTRY MANUAL(A1,A2)

AMAX=A1

AMIN=A2

MSWTCH=1

RETURN

END




